
ICEBERG 
Istruzioni per il montaggioI
Fitting instructionsGB
MontageanleitungD
Instructions de montageF
Instrucciones de montajeE
Montage-instructiesNL
Instruções de MontagemPT
MonteringsanvisningS
AsennusohjeFIN
PaigaldusjuhendEST
Stiprināšanas instrukcijaLAT
Pritvirtinimo instrukcijosLIT
Instrukcja montażuPL

RU Инструкции по установке
CZ Návod na montáž
SK Návod na montáž

SLO Navodila za pritrjevanje
HR Uputa za sastavljanje
HU A felszerelés módja
GR Οδηγίες συναρμολόγησης
DK Monteringsvejledning

Instrucțiuni de montareRO

裝修指導

Uydurma talimatTK
MonteringsveiledningN

中文



2

Q.N.

4

4
4
4
2
1

5

7
8

10
12

113

700014400000

700023200000

700023300000

700023400000

700023700000

XXXXXXXX

M6x45

6

5

5

8

2

7

4

9

11

13

2

7

8

1

6

4

9

11

Q.

XXXX

N.

5 4
7 4
8 4

10 2
13 1

1 2

XXXX

13 mm

M6x45

I

GB

F

DE
 

E

RU

2

Q.

XXXX

N.

4

5 4
7 4
8 4

10 2

13 1

1 2

XXXX

I

GB

F

DE
 

E

RU

20 mm

M6x45

3

-2-



2

Q.

XXXX

N.

4

5 4
7 4
8 4

10 2

1 2

XXXX

M6x45
5

5

8

2

7

2

7

8

1

1

2

3

20 mm

20 mm

20 mm

Q.N.

13 1

13

-3-



-4-

Q.

XXXX

N.

5 4
7 4
8 4

10 2

1 2

XXXX

M6x45

5

5

8

7

7

8

1

4

5

6

13 mm

13 mm

13 mm

13
Q.N.

13 1



-6-

OR

10

11

12

13 mm20 mm

13 mm20 mm

13 mm20 mm



Co
d.

 A
rt

.

00
00

71
80

00
00

50
00

09
60

00
00

Co
d.

 is
tr.

D
at

a
Cr

ea
to

 d
a

Ap
pr

ov
at

a 
da

 
04

/0
8/

20
15

N
P

LM
 /

 E
L

ICEBERG 1,4 kg x 4

MAX 
6kg

x 2x

+ + OR

kg
MAX 
6kg

Flli.Menabo
Via 8 Marzo, 3

I - 42025 Cavriago (RE)
Tel. +39-0522/942840
Fax. +39-0522/942948

e-mail: info@�li-menabo.it
Web-site: www.�li-menabo.it 

20

40
60

80 100 120
140

160
180

200
20

40
60

80 100 120
140

160
180

200

SNOW
BOARD SKI

130110

NO

-7-


